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F0Ol b= MHIA HZ(
SEX0 Fore 2 (25 & @)
SAH-EB. S (3H) - HEAY - BE2 il HZS2
O&=J Xtz 67,700& = 12& 813
02 332494l 15,130 15,450 A 320
O&IIR= 9,960
-3 A 650,000 » 12& 7,800
-= Xl 3= 180,000& * 12& 2,160
O3 1,500
-& A} 65,0003 * 12& 780
-= X3 2 60,000& = 12& 720
O Xt XAl 30,000& = 4CH 120
OxeELE = 3,550
-AESI2 1,000,000& * 204 2,000
-S23= 1,100,000& = 1CH 1,100
-4 Es SXXE 450,000 = 1CH 450
202 04| 5,000 5,000 0
01 2LHOHI 5,000 5,000 0
OgHAR FA 5,000
206 M =8l 13,000 13,000 0
01 = bl 13,000 13,000 0
Ogd9Eg g2 5,000
O=E3d3AMT HZH 3,000
OFC ™I XZE stHXAH M4 4,000
O2Yga U =H 22X Y MHEhl 1,000
401 Al HI L 20| 10,000 10,000 0
01 Al& bl 10,000 10,000 0
OXxds+ ATHA &bl 10,000
23 A4 2 BH SX22 (o) 42,907 41,009 1,898
101 @121 367 349 18
04 JIZtHI22NEE 367 349 18
O35 - 24013t & 4 22 o2
73,2803 * 1Y = 5 367
201 LEr2 9| 39,540 31,660 7,880
02 352494l 39,540 31,660 7,880
Og=2 Apl+E23 10,000 = 12& 120
OMY I 2el+=HE Mdotx=E2=2
45,000& * 12& 540
O=X3z& A8 S bl 2,000
OH= = A bl 2,000
OX& = XYl 26,000
-4~ 832 4,500,000& * 2CH 9,000
-EX3l2 13,000,000& = 1CH 13,000
==\ PNE= 4,000,000& * 1CH 4,000
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PRSI ol = MHlIA HZ2(HH)
S EEXO Mot 2 SEED)
K- EH3 B (3H) - HSAY - Ba2 il HZS2
O=2d¢ & g2 I3 200,0008 * 128 2,400
OMD 2el=HE JIIe3
15,000 = 128 180
OU=sdE Mot 3 300
o=z dIIe2 500,000& * 12& 6,000
401 Al HI L 2 0HHI 3,000 2,000 1,000
01 A& HI 3,000 2,000 1,000
OFA 3t | 3,000
QIXXIME 2H(HOHH) 15,000 15,000 0
201 LEt2 Y| 13,500 13,500 0
01 AR 22| bl 11,500 11,500 0
OFUXXHEH 2 1,000
Ogol+4 35,000 » 25 x 12& 10,500
03 HAFS S HI 2,000 2,000 0
OF0UXNX S23 /IASE 2,000
301 dEtEXZ 1,500 1,500 0
09 HALAHIXI &= 1,500 1,500 0
OF0XXNFE XMNOMHZ2H DEIA 1,500
FOIHOSA XL (HeHH) 966,000 866,000 100,000
DEUYsE NI L(HeHH) 966,000 866,000 100,000
AP FO=2AAIS (HOHH) 910,000 810,000 100,000
401 Al HI L 2 0HHI 910,000 810,000 100,000
01 Al &bl 910,000 810,000 100,000
OSLH1 BH=2 & Hl(L=180m) 24,000
OSU4 OIS 2 OFAZ M 2D](L=260m) 28,000
O3411 BH2=2 & dl (L=100m) 24,000
O342 0t ==2 AFHAHI (L=20m) 18,000
O23413 i 2=2 &l (L=80m) 20,000
O241 &2 & dl (L=50m) 17,000
o283 28 MeE2 X2 (L=200m) 30,000
OZ0tM &g A&l 15,000
O&a21 0lsAotE EH|(L=50m) 20,000
Oa22 022 otA2S M2 (L=170m) 25,000
Os323 M&AHI(L=100m) 25,000
OX&1 M&AH|(L=160m) 26,000
OXdE2 0222 OFA2S M 2| (L=270m) 30,000
OXA3 M & AH|(L=150m) 25,000
OXd4 =2 F(L=140m) 25,000
OX&4 Hiz2=2 & dl (L=150m) 15,000
OAEZ2 tH£==2 & Hd| (L=150m) 20,000
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